SA KA HEH
A ToEd 2 (8d/H)
Chol: TQIStE 28 U AL BE (ol @)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
KHH A4 EH 0t 9,169,429 11,327,551 A2,158,122
= 3,242,500
[ 2,053,000
= 3,873,929
Aostd S (8 /Xe) 6,563,350 9,260,981 A2,697,631
= 3,176,500
= 228,000
= 3,158,850
Agetd 28 2 AL =5 1,898,750 3,461,581 1,562,831
= 65,000
[ 228,000
= 1,605,750
AASFEA 2 231,800 242,310 10,510
202 04| 4,800 5,310 2510
01 =LHO LI 4,800 5,310 A510
OXHSH20F 2R 4,800
307 elztol & 180,000 180,000
05 212t =S 180,000 180,000
OXMstEsd 28 180,000
308 AXIHSO0IA 40,000 50,000 10,000
01 X HHNBAEXS 40,000 50,000 10,000
OASHH= HEHBAZHAS 2| 40,000
401 A2 HIZL R 0HbI 7,000 7,000
01 Al&HI 7,000 7,000
OXtgstgd It ES 7,000
OW dEfAES Ws - 22 150,000 150,000 0
308 XXM SO0l 150,000 150,000
01 XN BELES 150,000 150,000
Ot=WEaldPsit WsT2 )8 X3 150,000
dEjz2Xd Ng o |K4(=21) 296,400 292,500 3,900
[ 228,000
= 68,400
308 AXIHMSOIA 296,400 292,500 3,900
[ 228,000
= 68,400
01 AXEN B EES 296,400 292,500 3,900
odg2ANS N8 & |4 296,400
= 228,000
= 68,400
dej22X9 X8 & |4 9,000 11,500 22,500
307 el2tol & 9,000 11,500 22,500
02 2IZHBYAIHE £ 9,000 11,500 2,500
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SA KA HEH
A ToEd 2 (8d/H)
Chol: TQIStE 28 U AL BE (ol @)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
| oz dezzscs 29 9,000
KNHSHEFHOISAISE X (HEALY) 362,050 135,200 226,850
403 MR HHMSAHE01H 362,080 135,200 226,850
01 MHXIHHA =222 362,050 135,200 226,850
OMREr ZLHSZ TL(HEH 362,050
CAl MEEAIZ2 ZH(HEAY) 765,000 459,000 306,000
403 AXIEHHSAH=201d 765,000 459,000 306,000
01 AXIEHM A= E £ 765,000 459,000 306,000
OLnY HAS MEFAS2Y 24(HE) 765,000
A2 SRZA ASHE 22 (=1) 84,500 104,000 219,500
= 65,000
== 19,500
308 XHXIEMSOIE 84,500 104,000 219,500
= 65,000
[ 19,500
01 HRHHBAEES 84,500 104,000 19,500
OEAME SXTAl ISEZ]8 N2 84,500
= 65,000
= 19,500
OlsS - A2 25 2 4,664,600 5,799,400 1,134,800
= 3,111,500
= 1,563,100
OMSE maHog(22) 574,000 888,000 A314,000
= 470,000
== 104,000
403 MR SHHMSAH=01H 574,000 888,000 A314,000
= 470,000
[ 104,000
01 MXIHHA 22 574,000 888,000 A314,000
OsZs Hloioe 574,000
= 470,000
= 104,000
ASF THE OFMSBIEHX] AIZIHF L AtHMIX 2l XI&(=1) 810,000 945,000 /135,000
= 540,000
=S 270,000
308 XtXIEMSO0IH 810,000 945,000 135,000
= 540,000
== 270,000
01 HRESHH B EES 810,000 945,000 135,000
OANZMF & AMHXel XA 810,000
= 540,000
< 270,000
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SA KA HEH
A ToEd 2 (8d/Xe)
el Ords - Al 23 2e (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
FollOlMsE Z2lHAZ K& 130,000 130,000
308 XXM SOIA 130,000 130,000
01 HXEHH B EES 130,000 130,000
ORliOlsE L22a= K& 130,000
ASF AHEH SEH2| 2t2(=1) 602,000 1,190,000 /588,000
= 430,000
= 172,000
308 AtAIEHMSOIE 602,000 1,190,000 /588,000
= 430,000
= 172,000
01 XN EES 602,000 1,190,000 /588,000
OASF Xt SEtel 2tel 602,000
= 430,000
=S 172,000
MENHMBIAXIZHM(=1) 660,000 660,000 0
= 550,000
< 110,000
308 AXIHSOIA 660,000 660,000 0
= 550,000
= 110,000
01 HAHHBSEXRS 660,000 660,000 0
OZMESAIY 660,000
= 550,000
= 110,000
OMESE R 2eldH 2E(21) 633,333 632,333 1,000
= 190,000
< 443,333
307 el2to| & 633,333 632,333 1,000
= 190,000
< 443,333
02 QIZtEHAEE X 633,333 632,333 1,000
OlfdsE Px2cldE 2 633,333
= 190,000
= 443,333
Ol S - A2 28 100,000 130,000 /30,000
308 XXM SOIA 100,000 130,000 230,000
01 AXHN B2 LS 100,000 130,000 /30,000
OO0t =E T4 X 100,000
QSHUR MEDEE MAH(=2) 600,000 600,000 0
= 500,000
< 100,000
308 AHAIEMSOIE 600,000 600,000 0
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2,662
2,662
1,672
1,672
600
600

20,625
20,625
5,852
5,852

3,000
3,000

23,287
23,287
23,287
7,524
7,524
7,524
3,600
3,600
3,600
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